Carlisle Primary School



YEAR FOUR 2024

24 F73 04 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "TCT8" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your home delivery order will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before Friday 15th December 2023.

The delivery service is \$5.00 for orders placed by the 15th December 2023. After this date a delivery charge of up to \$8.00 will be charged.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \(\juberline{1} \)

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR FOUR		e e e e e e e e e e e e e e e e e e e	· .		
	PERSONAL ITEMS FOR STUDENT USE					
P55257	Calculator Basic Pocket Jastek/Marbig	1		.1	9.55	9.55
P55322	Clipfolder A4 PVC Blue	2		1	3.76	3.76
P51558	Crayons 12's Twistables Texta Zoom Hard Case	3		1	7.30	7.30
P55480	Document Wallet FC Polydoc Black	4		1	2.00	2.00
P55481	Document Wallet FC Polydoc Blue	5		1	2.00	2.00
P65021	Document Wallet FC Polydoc Clear	6		. 1	2.00	2.00
P65020	Document Wallet FC Polydoc Purple	. 7		1	2.00	2.00
P55487	Document Wallet FC Polydoc Red	8		1	2.00	2.00
P55518	Eraser Plastic Pencil Medium - Faber	9		4	0.68	2.72
P55654	Glue Stick 40gm UHU Blue	10		4	2.68	10.72
P52523	Highlighters Pkt 4 Assorted Maped (with blue)	11		1	4.60	4.60
P50199	Library Bag Large Nylon 35 x 40cm	12		1	6.95	6.95
P56291	Marker Artline #70 Bullet Point 1.5mm Black (Xylene Free)	13		1	3.80	3.80
P52150	Markers Connector Pens Wallet 14 Art Assorted	14		1	7.60	7.60
P56130	Pen Felt Tip Fineliner Black	15		1	2.28	2.28
P56095	Pen Ballpoint Cap Type Blue Medium	16		2	0.28	0.56
P56096	Pen Ballpoint Cap Type Red Medium	17		6	0.28	1.68
P50496	Pencil (HB) Economy	18		6	0.28	1.68
P50108	Pencils-Coloured 12's Noris Club	. 19		2	4.16	8.32
P56414	Ruler 300mm Plastic Clear	20		1	0.60	0.60
P56451	Scrapbook 335x240mm 64 Page	21		5	1.68	8.40
	(1x Science, 1x Music)					
P56245	Sharpener Pencil Metal Single Hole (HQ)	22		1	0.68	0.68
P56708	Whiteboard Markers Connector Wallet 4 Assorted	23	$\overline{\Box}$	2	6.70	13.40
	Please choose ONE of the options below	Choose One	_			
P50161	Scissors 170mm Maped Plastic Handle -OR-	24		1	1.84	1.84
P52399	Scissors 165mm Left Handed Green	25		1	2.16	2.16

PARENTS TO SUPPLY

1x Art Shirt

1x Library Bag

1x 'Over Ear' Headphones (Optional)

ADDITIONAL NOTES

SOME STATIONERY ITEMS SUCH AS PENS, PENCILS, ETC MAY NEED TO BE REPLACED DURING THE YEAR **MUST BE SELECTED BRANDED PRODUCT. PLEASE DO NOT SELECT ALTERNATIVE BRANDS or PRODUCTS** Suggestion: When selecting a school bag, please choose a LARGE school bag that is large enough for children to independently pack their lunch box, library bag and library books, reading books, hat, spare change of clothes, water bottle and school work.

Total 108.60

Please tick the items required in the box provided \

(PRICES CORRECT AT 21/11/23)

V Item Item

Total

Amount \$

Office Use	Description			Item No.	ltem Reqd	Qty Reqd	Unit Price \$
							<u>-</u>
		Number of Boxes ticked:					
		Postage (Home delivery only)			\$5.00		
		ESTIMATED A	MOUNT DUE		\$		